Set.id:31489.5. 08-12-2016-.Batch 2 - Group5 For: Rajya Sabha Secretariat, Parliament of India

Section 1 - Part A

No. of Questions: 50

1) M, N, O, P and Q are the members of a family. P weighs 78 kg. M weighs 48 kg. O weighs 11 kg less than P and 12 kg
more than N. Who is the heaviest person in the family if Q weighs 70 kg? / M, N, O, P &It Q U TReT % waed g1 P 57 awi7 78
form &1 M =T @St 48 fmm 81 O v e P& 11 B 9 & i N ¥ 12 e smar §) 7 i wa offa o= arer st 7 g af

Q =T 797 70 fFFur 87
A) N
B) P
c)Q
D) M

2) X number of boys decided to raise Rs. 200000 by equal distributions from each. Had they contributed an extra of Rs. 40
each, the contribution would have been Rs.250000. How many boys were there? / sTghi T X @& T Yo o 920&a< G0~ gLl
200000 & ZHET FTA FT [T BTl I & TEF g 40 % F SAfafen TATET S U, g 7o 250000 BT HRAT &1 7@t Frae ez sh o7

A) 1590

B) 2300

C) 1250

D) 1030

3) Among the given four options, three are related in a same way. Select the option that is odd one out. / T 7T =Tz et #
A e i § sy ¥ wete g1 ag Fwer R o waw fean

A) 576

B) 772

C) 196
D) 324
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4) In a certain code, ADUWI is written as 27, then how is OFGEJ written in the same code? / = 2T 32 & ADUWI it 27
=1 # Pt st g, 71 3+ F2 § OFGEJ &1 %% formay sm?

A) 68
B) 37
C) 23
D) 62

5) Three out of the given four items are similar. Find the odd one. / & 70 517 sirreat § & i v ¥ &1 e argew i mg=ma

A) 39
B) 25
C) 21

D) 15

6) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made along

* the dotted line 1, then along the dotted line 2 and so on. How many edges would the shape in the resultant paper sheet have,
after the folds? / #1= & wy v ofiz v sfPafam wwerm % v o Geger &7 (=)  aamias 917 star ) vEer 7 B i
YT A 7 T B star g, e Gt A v 2 & weriar @ gt /1§ aw whomdt o o § Gae fEr gere

A) 8
B) 7
C)6
D)5

Page20f59




Set.id:31489.5 08-12-2016-Batch 2~ Groups For: Rajya Sabha Secretariat, Parliament of India

7) An image is given in the left and a set of three numbered images on the right. Observe and find out which of these three
images can be formed using exactly the same number of straight lines as used to form the image on the left? / W == atg &ix
& 1€ 2 el i Frerifere e =7 U e a e S T m @1 ermEs 2T o Farsv F o fim GEr § & 5 S st d der
AYE TETAT F TEAHTS T SATIT AT ToaT ¢, et are e fF Ry v a=m #§ geamme it 7 82

A) 2
B) 1
C) 3 _
D) Both 1 and 2/ 1 3% 2 €M7

8) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

Austria : Vienna :: Zambia : ? /

7Et o o orew fAm Tw E) e a1 ae’ v [AfEe et & Hete ) Wwwﬁrﬂﬁﬂwaﬁ&mwwﬁ ST e oee g
FA|T E Hee TEdT g, ﬁmﬁruﬂ%sﬂ'{{ﬁﬁwmmﬁﬁn

A) Caracas / ¥4

B) Harare / g71¢

C) Montevideo / wieeife=r
D) Lusaka / TT&TRT

Following are the conditions for selecting assistant-engineer in a - ; - . -
. ¢ 5 Frrerferfere e wiresaT ST § AEre-Es AT & AT &
o are &1 weefiear A

Software Firm. The candidate must:

(i} be a graduate in mechanical engineering with atleast 70%
‘marks.

() 8 2 70% it e ey A oA i
AISUE g7 AR

(i) be a post-graduate with 75% marks.
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(iii) have a work experience of 3 years post qualification,

E_(iv) have secured atleast 80% in the selection interview.

I

In the case of a candidate who satisfies all the conditions:

(A} EXCEPT (i) above, but has work experience of 5 years after
[post-graduation, then the case may be referred to General

gManager.

f(B) EXCEPT (ii) above, but has experience of 7 years or more
after post-graduation, then the case may be referred to Vice-

President.

{(C) EXCEPT (iv) above, but has more than 80% in Class X, then

;the case may be referred to President.

~ ‘Based on the above information and criteria given in each of the
following guestions, you have to take decision. These cases are

given to you as on 1st November, 2016.

(i) 75% 3t 3 7T T Sre-eE AT T
(iii) TR ¥ AT 3 A A AT EAT AR

(iv) TEFI TS K A AR So%aﬁaﬁmmaﬁvﬂ

T T AT Tt ot A O T

(A) FrEmT TU9TE (i) 3, ST Tre-Isua F AaTE 5 | i
FATTAT £ AT, HTHAT FETTEA A 57 77 :

(B) Frams =a1=F (i) &, SIfm Tre=-3rspere % 7T 7 37 39 '

T2 T 7 AT 2 AT, WA ST 7 S S

(C) BT ST (v) 7, A oY e # 009% 7 A E
X, FTHAT ST T AT AT ‘

Wm—ﬂ‘rﬁ JﬁTﬁHﬁWTﬁTWWJW%WTTWFTW’T
T ATETT ¥ rTanT oty #97 20T s e m‘rTFrer
| 2016 #F¥ A =7 fw T &

9) Pooja Shah secured 74% marks in mechanical engineering and 69% in post graduation. She has work experience of 9

years after post graduation and has secured 84% marlks in selection interview. She should be :

i

TS 9TTE SRR SR 1 74% e o TrE-anued § 69% 21ie B 81 are-aserT F AaTE 39 e 9 W AT A g

Sl T Frrere T i 84% s EThe Fe 0

A) referred to the Vice-President / 391eTme QT ST AT JTRT

B) referred to the General Manager / TETTae & TTH 7T ST ATRT

C) referred to the President / ST&eT 3 T HT STAT AR
D) rejected / FAT AR AT AR
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10) An image is given in the left and a set of three numbered images on the right. Observe and find put which of these three
images can be formed using exactly the same number of straight lines as used to form the image on the left? / T A

AT &t 7€ § A ol weie R = e & e A R f1 samE S i aaren & o ff R E @ G S s ar

st o wreet Yarret % e & aerar S A g, St ars e fit = i am 7 ewwe T g2
3

A) 2

B) 3

C) Both 1 and 2/ 1 &% 2 =T
D) 1

11) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are

related.

Assam : Dispur :: Mizoram : 7/

gt U7 i orex U U §) wger &7 eres e AR Gt & et §) fRw wu = et § & 39 /€ q6w 7 =749 A1, S 6T 958 7
AT & Terer TEraT g, ST uge s gk aew ey @ gl ' -

waw : faae s s 2

A) Aizawl / @TEsTTe
B) ltanagar / 2T
C) Gangtok / Tar
D) Kohima / F7fzaT

F & ¥ forET 91 g, 71 I e T AFJKUR 31 forer sroa?

A) 32
B) 39
C) 46
D) 35
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13) Find the number similar to the number 32 in a certain manner. / 39 =0T T G150 37 U5 2 a0 § F=07 32 7 797 8

A) 2

B) 46

C) 13
D)y 17

14) There are three words given here. The first two words are related in a certain manner. Select the proper word among the
given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

carnivores : walruses :: herbivores : 7 /

Tt v i oz faw o 81 weer AT e e S it w AT 8) R = Rt § § 39 6e; o A S A, S A ores 7

TR JTAT 2 TR 2

A) koalas / T
B) cougars / 54T
C) owls / T

D) sea lions / sfiE

15) What would be the sum of first 100 terms of this sequence: 0, 3, 8, 15, 24, 35, .........2/ T ST £ T2HT 100 FeAmert F7
T AT EAT: 0, 3, 8, 15, 24, 35, ... ? '

A) 338150
B) 338250
C) 338450
D) 338350
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16) Among the given group of 4 images, which set of images can be classified as a group? / Ru e 4 R Fagg H &
o wegr =t 7 O g F T W AT A (AT S e g7

A) (1,2, 3)
B) (2, 3, 4)
C)

D) (1, 3, 4)

(
(
(1,2,4)
(

= 4 st e i - s e

17) Among the given group of 4 images, which set of images can be classified as a group? / 27 77 4 ==t & wqg
e g R o e g & w0 § anfiga B Soaewar 62

A) (1,2, 4)
B).(1,2; 8)
C)(1,3,4)
D) (2, 3, 4)
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18) Three out of the given four items are similar. Find the odd one. / 21 W 517 Araest § ¥ 17 v 50 &1 5 srgew &7 vz

S

s

A) 394
B) 19#
C) 48#
D) 28#

19) 14 persons went for a dinner in a restaurant . Thirteen of them spent Rs. 20 each on their meals & fourteenth person spent
Rs.13 more than the average expenditure of all the fourteen. What was the total money spent by them? / 14 =1f7% 7 F=a77 &
ST 3 P ST 1 9 3 v A A ST T 20 7 A et § A wreee safen wft sy s w der e 7 13 7 afien we

A) Rs.168 / 168
B) Rs.226 / 226 7
C) Rs.204 / 294 %
D) Rs.316 / 316 =

20) Deepa and Kiran started a business investing Rs. 35000 and Rs. 28000 respectively. Out of a total profit of Rs.7200,
Kiran's share is / £t1 &iiv Ror 7 Fwor: 35000% 407 28000% fFaform v o = ofF f&m 7200% % gt @1 § 7 e &1 e

A) Rs.4000 / 4000 %
" B) Rs.3200 / 3200 =
C) Rs.2800 / 2800 #
D) Rs.3600 / 3600 *
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21) Given are two views of a dice. What should come in place of the question mark? / 78 (2Te®) Far 3¢ few v €1 w1 e
F T IT AT AT ATEU?

S 0 ) i

A) 6
B) 5
C)4
D) 1

22) Introducing Neha, Rohan said, "The son of her only brother is the brother of my wife."How is Neha related to Rohan? /

3T T AR 3 B, TR 7 T, "I g SE o ey welt 7 v &1 Aer i A ¥ r fear 7

A) Sister of father-in-law / 8T Fi ag7

B) Aunt / =T=T

C) Grandmother / a1t

D) Mother-in-law / a1

23) In a certain code, JLD is written as NUL, then how is FGM written in the same code? / T S %z & JLD %7 NUL % &7
& fora STt &, 7 3 F § FGM 1 &t forer st '

A) VFF

B) JPU

C) MKJ
D) KUY
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24) Six friends were checking their heights. All of them have different heights. Jack is taller than R'c;se. who is taller than Sakshi
and Shashank. Only two persons are shorter than Ayan, but none of the two is Shashank. Shashank is 160 cm tall. Sakshi is
taller than only one person. Kaushal is the remaining friend. If all were standing in a line in descending order of their heights,
and then Jack and Rose, Shashank and Ayan, Sakshi and Kaushal interchange their positions, then find the the position of
Shashank in the new arrangement. / @: =7 sroeft-ar=Y #ame st 72 2n 37 wreft & A=1E sme-erm ) 3 f A T 7 wfiw g
ST ATt = ororieR & FrET &) FAe &7 SRF AU W wiE g, 7T AT H T R 9T Al g1 T A Jare 160 T &) At B v
Frice & @At 81 =T ger foer wver &) A F w9l sroet At Aare F AW H @ 2 8, A e S o e, oo S sere, Ay s
VT A=t RorfR a7 Aoy waer 9 2, A7 A SraedT § vrores e w4 9w 32

A) 6th [ @5

B) 5th /7=
C) 2nd / gAY

D) 4th / =74

25) Looking at a portrait of a man, Sushil said ,"His mother is the wife of my grandfather's only grandson. Brothers and sisters
| have none." At whose portrait was Sushil looking? / 7 T it awfiv it s Za g 7qefer 7 Fgr, “3#eft =7 77 2137 AT ehediar
AT i T 31 WY FrE ArE-aga el g1 qefie Ry aei T gy an '

A) Son [ F2T
B) Nephew / #dTsT
C) Brother / wTE

D) Brother-in-law / T1AT

26) A man's speed with the current is 30 kmph and the speed of the current is 3.5 kmph. The man's speed against the

current is / 7% 3 AT s a7 30 Bt o siar 2 o wi B 0fF 3.5 Bt af der 21w T R a6 i 2

A) 25 kmbhf25 et ot ey
B) 23kmphf23ﬁ%nﬁ\:rl%rw
C) 7 kmph / 7 Bt o ==

D) 19 kmph / 19 By ofd ==t
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27) Among the given four options, three are related in a same way. Select the option that is odd one out. / fem aro =T ot
i weh wleE & soe W watew g1 Ag Fwer g S ae e gn

A) Day : Week / &7 : 5\TR

B) Year : Century / T ; STaTsat
C) Week : Month / @aTg : |18
D) Hour : Minute / =< : fi=e

28) Two identical dices P and Q are taken. On faces of P, months of first half of the year are written. On faces of Q, months of
second half of the year are written. Now the two dices are glued together along the faces that have a month with equal number
of days. Which of these cannot be there on one of the glued faces? / &1 7T IH P &iiv Q o ster €1 P & e oY /1 5 Tge
FHTET o A fore ST €1 Q F el O AT % gEE FHTE % HE O ST 1 T 39 W U S@f aHI €EAT AT [ & HEi @
THEF FHTFTA &A1 T a7 T4F F T 6T SET a7 &) 576 & F1F 87 T F qTT S8 T e T Ag! gl aohar?

A) May / 7E
B) January / STET
C) February / wtadr
D) June / S

29) The paper sheet given below is folded along the given dotted line(s) in the sequence as mentioned. First fold is made élong
the dotted line 1, then along the dotted line 2 and so on. How many edges would the resultant paper sheet have, after the
folds? / F= R T ofte 7 Sfeafra s # Ru o favgei 6 Yan(4) % auia qreT smar g1 8o 9ie faege €1 wmr 1%
T T strer €, b fevget &t vET 2 & e #fi s 21 F arg et o site § fee G ghre

1M 2m 3m
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Following are the eligibility criteria for applying for the post of TETTF AT ¥ TE F R aeET ey ¥ B e aree
Assistant Manager. Frr o o &)
j'(i) The candidate should be a graduate with minimum 80% |

laggregate marks. 3(i) FTEEATE FH T TH 80% T F T FIAF 24T ATRM

(i) fx TwfEaTT T & FH 66% oAt F AT AT 2, A
HTAE w47 § 39 4% 7 7 79 60% 2 ATRT

(i) The candidate should have minimum 60% marks in

graduation if she is a post graduate with minimum 65%

(iii) The candidate should have minimum 70% marks in

(iii) 7 zfraa 7 Frrr #§ R s B 2, 97 s
ggraduation if he has done diploma in marketing. ; ,m H I S FH A FH 70% B AL

According to the details of the candidate, he/she may be eligible rafimare 3 fram s T, A S fam v A s

‘- e = I 3T T T S
'under one or more of the criteria given above. 5 TEE T T BT AT £

‘Read the following information given below and find out which of A A T S 0 S S A A A
the criteria under which the candidate is eligible? FEHTEATT AT AR AT AT 3

30) Candidates information - Komal is working in a company since 4 years after her post graduation, in which she secured
67% marks. She is a graduate with 80% marks and has secured diploma in Computer Science from Mumbai. 1
/

Fefl=aT B SR AR T A ST D URTE W ATE 4 A0t o s o Ay v g 2 anﬁm% i e PR 81 3 1\
WHBO%WW%‘U?WR&‘EWWWﬁ&WT’@Tﬁﬂle : ‘

A) (i only /(i)
B) (i) and (u) only / #&= (i) =¥ (ii)
C) (i) and (iii) only / 5 (i) ¥ (i)
D) (i) only / =T (i)
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31) Bharti, who is Akshay's daughter, says to Kartika, "Your mother Nikita is the elder sister of my hrother's father, who is the
third child of Meena." How is Kartika's maternal uncle related to Meena ? / \TTaT, ST 3767 &7 27 8, A o Fgdt g, "qrgreT 8t
AT 3% e % ey & ot agq &, o7 dimr & Sy war {1t Ffe w e F fE & =@ R g?

A) Son-in-law / ZTTE
B) Brother / 9T%

C) Nephew / sreftsTT
D) Son / T

32) In a certain code, NMFERW is coded as OOIFTZ. What will be the code of the word DFHRCF? / u ffsra g o
NMFERW % OOIFTZ ¥ &7 & e a5 fa= stat €1 eres DFHRCF &1 Fe #7471 g2

A) DERWES

B) EHKSEI

C) SEREWE
D) JFSHSR

& § His ATAFET F 97 F oy sweraT 4 F oy arar
‘Following are the eligibility criteria for applying for the post of

| HTTEE A= T T )

Junior Officer in a bank. ‘

?(i) The candidate should be a graduate with atleast 60% (i) 3PHTEaT T F T 60% T HET 6 ATH HIGE gAT AR
‘aggregate marks. (ii) =rfe SoTeaT F9 T T 65% T F TTT WG §, av

| AT T 0 IAF 3% 77 T 57 60% I T2
(if) The candidate should have atleast 60% marks in graduation i )

if he is a post graduate with atleast 65% ; (iif) =& swteeTe o SiFece it =31 (Ph.D ) are 67 2, a1

‘ . T w I O W Y T 50% 9T SaEET w6 I
{(iii) The candidate should have atleast 50% marks in graduation

| . Gr s, T Y 60% B AR

and atleast 60% marks in post graduation if he holds a doctoral j

degree (Ph.D) - (iv) =T wTa e T 5 are, FeteATe o e w9 4 w9 4 A |
_ _ o AT AT AAT T, AT FTAF T F IHE 7 FA T 60% T
(iv)The candidate should have atleast 60% in graduation if he

| . ' EnE

has atleast 4 year experience after post graduation. |

| : ' . ~(v) afE ATaE 'Y ATE, IEHIEAT & T T 8 6 9 o6 A
(v)The candidate should have atleast 55% marks in graduation 4 . ) \ it

) _ . FTH SATAT §, AT ATTR T H IH % FH 4 7 55% B

if he has atleast 9 year work experience after graduation.

! i %’ \.l

EAccordin to the details of the candidate, he / she may be <

Lo ’ oot A . FrfteaTe ¥ e § SaE, 98 F9 R aw uF v afdw
eligible under one or more of the criteria given above. o 2

! qTTEE % Sfeid T g1 F%aT gl
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‘Read the following information given below and find out which Fr Ay ST 0F A 5w ar aresT sefimE
of the criteria the candidate belongs to? Y AR sEfA aare 2

33) Candiciate‘é infcljrhwratiohr: Raj completed his engineering 4 years ago with 70% aggregate marks and postgraduation with
68% marks. He has been working for a firm since 3 years. /

FrTEATY £ SRR 7 4 A TR 70% St 6 A oAy SR 2 68% i % Ay A A wwre T A £ AT fae 3
aaf 7 W FH H FH w7 R

A) (i) and (i) only / F==T (i) =1 (ii)
B) (iii) only / == (iii)
C) (i), (i) and (iv) / (i), (i) =i (iv)

D) (iv) only / F= (iv)

34) Six friends were checking their heights.All of them have different heights. Jack is taller than Rose, who is taller than Sakshi
and Shashank. Only two persons are shorter than Ayan, but none of the two is Shashank. Shashank is 160 cm tall. Sakshi is
taller than only one person. What can be the height of the shortest person if the height of Sakshi is 148cm / & T ATe-aT+t
AATE AT 78 91 3T AT AT AT ST ) FF AT AGTE T ATEF g, 7 ATy #A7 oreriw A AT F) FAA A7 =RE AT T wie E,
A 1§ T F1E o1 ART 21 oreriR T FATe 160 FHT F1 wreft Frk v =i w1 = B0 w=e wre sin i A=re w6 gy awdt g
ATt A TS 148 FATE?

A) 156 cms / 156 Tt
B) 155 cms / 155 Tt
C) 147 cms / 147 FrHY
D) 159 cms / 159 7y

Frerferfi e wvr & R Bt & aeares & T T
= form o 81 sviEET

‘Following-are the conditions for selection of translator in various

departments of the government in India. The candidate must:

i(i) be a graduate in any discipline with atleast 65% marks. (') T 3 T 65% e I ATy S o e i ?J?F”T Srap

(ii) have the ability to read, write and speak Hindi and English f”%”-'

besides the regional language of the state to which he/she é(ii) A T ST T R e A A et Ty

belongs. forrsr <A A ¥ e e
(iii) be less than 30 years of age. (iii) 30 =T ¥ Fw A7 ZTAT FIR
;(iv) must have Indian Passport. g(iv) T AT FTAT AT B

in the case of a candidate who satisfies all the conditions:

2

T U IO AT AT AT AT T AT 8
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(A) EXCEPT (i) above, but has a post graduation degree, then

ghis/her case may be referred to State Employment Officer.

i(B) EXCEPT (iii) above, but has experience of 3 years after post-
\graduation, then the case may be referred to Personal assistant,

‘State Employment Officer.

i

i
;Based on the above information and criteria given in each of the

following questions, you have to take decision. These cases are

given to you as on 1st September, 2016.

(A) Foramer v (i) 3, ST T e B Rt 2
I, THF AT il T ST ATTHTE T HST ST

(B) Rrarer swies (i) ¥, AR Trez-emue ¥ are 3 W

T ATAT ¢ qT, WS T S HgTAE, n‘:ﬂwuﬂfﬁ?ﬁﬁ
T ST S

T SR Sl S R T e vy § R g Ay

3 e sy Fohr A g @A AT
R 1, 2016 Fr ardig 7 frw &)

35) Hemant Puri, who is 26 years old, belongs to Karnataka and has secured 76% marks in his graduation. He knows to

read, write and speak Hindi and Kannada. He has an Indian Passport. He must be : /

od T Sy arg 26 a9 &, Wﬁmmv@%w?ﬁmmmjﬁmwm%ﬁ@ﬁﬁﬁ‘q%W%ﬁﬁmm raw

ST AT ST 1 ST TT6 AT T TEmie gl S8

A)  rejected / TEl AT AT ATRY
B) - selected/ FAT ST =ATRY

C) referred to Personal Assistant,State Employment Officer / fsft #rgreres, Treer Trewme stfereret 3 v ST stT =it
D) referred to State Employment Officer. / T1s TIsHTTT SATAHET 3 919 91T STHT AT1RT '

36) Which of the given option will NOT share the same property as the elements of the given set: (Chess, Checkers, Ludo)? /
e faret & F i °7 v {3 1w 2 (99, =, {ST) F oAt ST T H AT Al F?

A) Hockey / gi=hr
B) Backgammon / =TT
C) Carom / &3m
D) Cards / T8
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Following are the eligibility criteria for applying for the post of W G TR T S ar e e o R T g
Assistant Manager. ;ﬁ% o T 2
(i) The candidate should be a graduate with minimum 80%

Lngregste roars (i) FEAEAT FH H AT BO% I ATT ATAR BT AR

(i) The candidate should have minimum 60% marks in (i) A% FTHTZAT F7 7 FW 65% T F AT AT 7, AT

graduation if he is a post graduate with minimum 65% PRDTG o By o7 TH H TH 60% BT AT

(i) 7f Fwaferr & o 3 fveren s fe &, A A

f(iii) The candidate should have minimum 70% marks in :
FATH THE A AH H AW 70% g AT

‘graduation if he has done diploma in marketing.

;According to the details of the candidate, he/she may be eligible

under one or more of the criteria given above. TSR 1 ST T & HHAT &) ‘

A ST S AT 8 |

Read the following information given below and find out which o

éthe criteria the candidate belongs to?

37) Candidate details: Simran is just a graduate with 50% aggregate marks. /

FeftEATe AT Faven: FreA T 47 50% @t % Ay wrA A 9w A f)

A) All / wft

B) (i) only / = (i)

G} She is.not eligible. / 7 Foreger T A
D) (iii) only / m (iii)

AT T (TE) TR e 21 e & A anet A A oA S o g aeee gofle

A

A)Aand E/AHTE
B)Y Cand D/C=iTD
C)Band F/BH#ivF

D)Eand B/E "B
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39) There are three words given here. The first two words are related in a certain manner. Select the proper word among the

given four alternatives which bears the same relationship with the third word as in the manner first and second words are
related.

India : Ganga :: Mexico : ?/

et T i erex fow i €1 wge &7 wree wes (i Ot & geti 81 R ww = Reedt § & 90 wgr aew 7 =941 1], S AT a6 1
T 21 Hee TEar 2, SaT 6 ager #fiv gE e Hay wd gl

AT L T S ?

A) Rio Grande / faT s

B) Ob / &

C) Selenga / &=fwT

D) Yukon / THT

40) What should come in the blank space so that the series formed is meaningful: BZ, CY, EW, HT, 7/ r eI
AT ST AR AT =T A =9 +: BZ, CY, EW, HT, ?

41) Find the code similar to ABDG / 3T g ABDG  Si|T ®ie @IferT]

A) CDEF

B) MNPS

C) PQRT

D) XYAZ

42) A ladder leans against a wall. The base of the ladder is 3 metre away from the wall. The ladder reaches a height of 4
metre on the wall. Find the length of the ladder in metres. / 7= ®iET UF <1< & T @21 81 39 it 7 areme diam & 3 71 g7 &
STt Ear o 4 1f) B SerE e gt &) #d) i e & s Rt 32

A) 6
B) 10
C)5
D) 2
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43) Some alphabetical patterns are given in each of the option. Three of them are similar in a way, while one is different. Find
the pattern that is different from others. / 27 7= Rt & Fwg FoiaTT T=0 B0 77 21 S99 & 19 UF a9 T 909 2, a0 390 q
v Farer 81 T e e S gEet & i g ‘

A) TIFS

B) FSOT
C) SOFT
D) TOSF

/A company decided to recruit Sales Executive trainees. The o gt 3 ey w0ty fdregat At el F w1 e B &)
company laid down the following criteria for selecting the Ertr‘rﬁ = wjﬂ-ﬁﬂm F =9 & o G o Bathe o )
‘candidates. | -

A. should be a graduate securing atleast 70% marks. A FFHIEATT 0 &7 70% A1 % | AT gIAT AT(e0)

B. should have scored 65% marks in the selection interview, B- TP AT T =4 FTETETT 7 65% 4 wmer £ 21

C. should know fluent English. C. ez sl & AT A g e

D should have scored atleast 75% in the written test.

D. swdtmaT 7 Frfa o § w5 7 w5 75% i 9 G A

In the case of a candidate who satisfies all the conditions : =7 AT oA T I T AT AT F A e

?(i) Except A above ,but has completed MBA, his/her case (i) 3 A A KT BT, IFHTEATT T MBA B 2, 3w ;

?may be referred to the Managing Director (MD). Tr e f=or (MD) 7 ST =17 71t 21

(il) Except B above, but has a work experience of atleast 2 (i) 3T H & B A1 Bz, SFTRATY % TR FTa F A e

'years after graduation, his/her case may be referred to the ¥ 1= T8 7 47 2 A T R AT 2, I HIEA AT TR AT

;the President. [T L B 2l

Based on the above information and criteria given in each of | AR AT A e vy H R et e

?the following questions, you have to take decision. ST e AT 2

44) These. ﬁaéeé are givéﬁ to y-o.u és bn é1;°,t Qctdber, 2016. Maﬁes.hlSa.Wérkar seéﬁred 67% markél in gr;aduatiorll énﬂ did
MBA securing 72% marks. He has fluency in English and qualified the written test with 79% marks.He scored 80% marks in
the interview. He should be : / ;
T HTHA ST 21 AT, 2016 H1 fafa 5 srpe o aw & wger Ay 7w § 67% s 9 G F 6 72% St o A MBA
AT &1 = Sl T ATIETE AT § A 3 79% went @ e frfa wfvar st i §1 see amaren 1 80% s wme B #)0ar s
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A) referred to the President / Trewfe & ame =T ST o
B) rejected / sedTHhe FEAT ATRT

C) referred to the Managing Director / sreerss fFraer = qrer #rsr7 =120

D) selected / == A FeaT wTlRT

45) A figure is given on the left with a pattern. In which of the four images on the right we CANNOT find this pattern as a part
of that image? /A R TF T FaymF R A i s an fian e o e s o R SRS T = ¥ 75 = 75t A=
TEHAT?

b JchL"I"HI 1ip

A) 4

"B) B

C)1

D)2

46) Between two bottles kept in the shelf, seven packets are arranged. If you decide to arrange those seven packets in évery
possible way and do just one arrangement every minute, how long would it take to make all the possible arrangements? / 2%
7 T &7 qrawt F AT w9 Ghew sated gl afw o7 39 97 Fhel F7 g GG Tl T TS FT HHAT AT g AT gL HAS AT T
R e &, 7 st e e aer # A e g A | R

A) 5040 minutes / 5040 o=
B) 49 minutes / 49 =<
C) 120 minutes / 120 e
D) 720 minutes / 720 fi=e
~47) Which term of the given series would be the first one to be negative: 1034, 1032, 1028, 1020, 1004, ............ ? | & ITE e
¥ T SUTEH TE w1 A7 g 1034, 1032, 1028, 1020, 1004, ............ ? '
A) 10%/10=T
B) 13h/13aT

C) 11ty/11at
D) 12ih/1 2t
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e

48) A set is given, (Weight, Length, Volume). The sets given in options are similar to it in a certain way EXCEPT one. Find the

set that is different. / T 3 (s, #ars, |7=m) o wr 21 Fwew § B o Joo § 7 v Fr wrgse arh oo ve i a0 1 aee
21 ¥ F2 a0

A) (kilogram, metré, litre) / (P, Hiee, #fev)
B) (kilogram, kilometre, litre) / (BT, iz, #i=7)

C) (gram, kilometre, litre) / (ur, Ferrt=s, =)
D) (kilogram, gallon, litre) / (Frarrama, fre, #ftev)

49) Three images are given below. Observe and find which pair of the given images are similar to each other? / #7= #7 ==

&t wrd §1 e At i A w4 g Bt A ar g v 1 e 82

A) Al three can be superimposed on each other / 7+t F=t 7 -7 77 =Tt B = wear £
B) 2and3/2%i73
C) 1and3/1373
D) 1and2/1w2

50)lfp=-,q=+,z=x,ﬁnd4q5p1022!&‘9{p=—,q=+.,z=x%,"rﬁ‘4q5p1022%*37'
A) 11
B) -11

B8
D) 9
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Section 2 - Part B

No. of Questions: 50

51) "Bhangra", a popular dance form has originated from which Indian state? / "=, T TR e Aot Sl & T 57
T 3T gAT?

A) Karnataka / #tesh
B) Madhya Pradesh / we weer
C) Uttar Pradesh / 3= w&4r

D) Punjab / 9=ma

52) Jitu Rai represented India at Rio Olympics 2016 in which of the following sporting events? / St 71 & fT &ieifis 2016 5
T == & A w1 Tia e G ar?

A) Shooting / orféT

B) Wrestling / FeeT

C) Boxing / gaaTsir

D) Archery / HiiaTsiT

53) In which of the following states in India was the Earthquake Warning System (EWS) installed successfully? / s #
7 AT o e e 7 erdgen anfe feen (EWS) & srherarye & wariia g war ar? '

A) Tamil Nadu / affemTg

B) Karnataka / ##tes

C) Uttarakhand / 39TTEs

D) Gujrat / [sTere

54) What is 'Chapter-1V of Part-V' of the Indian Constitution? / STeefiT #faem F 'amr-V =7 sreama-IV' #7872

A) The Union Judiciary / =tz =amamamfersr

B) Comptroller and Auditor-General of India / s7a F = &< ggrar T
C) Legislative Powers of Parliament / #wrg &t faremy sri=mat
D) The Executive / =Tl |
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55) Which of the following defect of vision is NOT corrected by any type of spectacle lenses? / FerfrfEa & & i =71 2fgma

A) Presbyopia / TEaTaTa=T

B) Cataract / Hifd=riaz

C) Hypermetropia / Zr2aaziaar
D). Astigmatism / #fEeri sy

56) How many islands are there in the Andaman & Nicobar Island group? / s=a1 & AT g oz § e g 27

A) 572
B) 675
C) 650
D) 682

57) Which of the following banks has signed an agreement for the Eastern Dedicated Freight Corridor Project with Government
of India? / Rt & &7 Fiay 3% 7 a1 ATH F ATF T STEAE Wee AT TisTe & P v i 0 grare Fe?

A) Asian Development Bank / féras famr &%

B) New Development Bank / 7T Tarmie &%

C) Industrial Development Bank of India / \Te=r “izrmi B
D) World Bank / @ &=

58) In October 2016, the Union Cabinet, has given its ex-post facto approval for formation of a new Indian Institute of Science
Education’and Research (IISER) at which of the following places? / #Fza7 2016 ¥ FaT wiEHza 7 Feforfas 27 o 7 agf 13
A0 AR AT fovaT A s HEm (ISER) F 1A F o st ud e =i 3 4 8

A) Bhopal, Madhya Pradesh / STaT#, @&y w291
B) Berhampur, Odisha / F72THT7, Af3rm
C) Pune, Maharashtra / T, HgrTg

D) Kolkata, West Bengal / smm=mar, afm ERIe
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59) Which is the day of "Ashura", in the mourning month of Muharram? / TgT® & 9115 Fg #§ "s[TT¥T 37 Fi7 a1 8?

A) twentieth day / dtwar e

B) tenth day / g&aT fo=r

C) seventeenth day / &rgai i
D) eleventh day / wamgat fa

60) Which of the following is known as the National Waterways-3 ? / 7 # & fot Tt STeral-3 3 &7 § S11 S 872

Kakinada-Puducherry Canals syétem along with Godavari and Krishna rivers / TraTa< siiT Feoum Af24T F ame fwehreT-
TEAL TEL O :

B) Ganga River System / T¥TT &1 TOITe(t
C) Brahmaputra River System / g &l Tt

West Coast Canal from Kottapuram to Kollam with Udyogmandal and Champakara Canals / SEIFHES $iT F¥9¢
TEIT & AT FIETRA & F (e T T TR 787 : '

61) In August 2016, the Central Reserve Police Force (CRPF) had decided to appoint who among the following as its brand

ambassador? / e 2016 ¥ Fia w7 gfer aer (CRPF) 7 fRerferfaa & & & stomm ate vads< 5 w0 7 7 w2 &7 e B
77 '

A) P. V. Sindhu / P. V. &g

B) Chetan Anand / =a ===

C) Ashwini Ponnappa / a:rf?a-rﬁqﬁ:rtrn
D) Saina Nehwal / ®TzAT gat™

62) Fundamental Rights are found in Indian Constitution covering articles from / sreeftar e & witferss srferrre ead @ fome
et # e T §?

A) 36 to 51 /36 & 51 7%

B) 12t0 35/12% 35 @

C) 239 to 242 / 239 ¥ 242 T
D) 52to 151 /52 & 151 @
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63) Silver articles tarnish when kept in open for long. Itis an example of the silver metal undergoing / =T=T & AT &7 &= 79T
& o ey 7 e 97 ag T 81 ST 8) 7% e U 33 872

A) Abrasion / =TET a1 F AU H [HLA KT ILE7

B) Reduction / ST &7 & "IN I AT FT 3AT270 2

C) Oxidation / =TEY &1 % AFRFFTT 7 [ &7 TR 8

D) Amalgamation / =&Y €ITq] % THTHAT T R T 327 8

64) NAD is a unique, innovative and progressive initiative, approved for establishment in October 2016, for digital enablement

of the education records in India. What does NAD stand for? / NAD & =1, wifia= it wrtasfier 7z 8, S s o sherfire
Attt F Bfsea wad=r F o arga, 2016 5 =armaT 7 oo sreres o o NAD &7 arsfarga =7 7 872

A) National Academic Depository / Tor et =iz
B) National Academic Department / o =i fEmmee
C) Natural Academic Depository / =7 =i 2uifeesT

D) Numerous Academic Deposits / a7 szt =itz

65) In which 'Part' of the Indian Constitution, the relations between the Union and the States is discussed? / T AL
[ T I L MO 1 (e i e T e T e A B 1 R =i

A) X
B) Xl
)
D) Xl

~66) What is the correct chronological order of formation of Andhra Pradesh, Haryana, Chhattisgarh and Arunachal Pradesh? /

Arerer, EATT, e g A AT TE9T T TS A qe AAAE 7

A)  Andhra Pradesh, Haryana, Arunachal Pradesh, Chhattisgarh / @ierrzer, 2fy=mom, Ssumae g=er, S
B)  Arunachal Pradesh, Chhattisgarh, Haryana, Andhra Pradesh / s&9mm=m w=r, Befrrg, g, avermer
C) Haryana, Arunachal Pradesh, Chhattisgarh, Andhra Pradesh / gFrror, sr#om=e waor, Sz, Ao
D)

Haryana, Andhra Pradesh, Chhattisgarh, Arunachal Pradesh / gf¥=mT, sera=er, mefiame, devrm=e wxer

Page240f59




Set id:31489.5 08-12-20186.- Batch 2 = Group5 For. Rajya Sabha Secretariat, Parliament of India

67) In which year was the Emergency imposed by the Indian President Fakruddin Ali? / & adf # sa & TgTld S@E2 A A1
BT SATATRTe ST AT 977

A) 1978
B) 1976
C) 1974
D) 1975

68) Among the following fruits, probiotics are found in / FrerferfEe wet & =, Frer srarafers oo smer &2

A) Coconut / AT
B) Bananas / &1

C) Apple / o1&

D) Cabbage / T=TTTHT

89) In which of the following cities will be the Association of Tennis Professionals (ATP) World Tour Finals held from 14th to
20th November, 201672 / 14 & 20 F9va< 2016 T TAITETI AT Hd TrReed (ATP) o8 38 WEAeH HT ST 8 987 §
forrT ST i

A) Paris / afe
B) Istanbul / =Earee
C) Berlin / fei=

D) London / =57

A) Football / Feate
B) lce-Hockey / strewr gler
C) Basket ball / aTeFz afer

D) Badminton / d=fie
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71) Who among the following has won the Men's Singles All England Badminton Title 20167 / & & 5 3w f= e wter
T Fzfifes zrzeer 2016 AT 87

A) Chen Long Lee / =7 =11 A7

B) Parveen Jordan / AT SifEA

C) Vladimir lvanov / sy 23
D) Lin Dan / o 397

72) Which of the following banks conferred the "Gold Award" amongst the supporting institutions in Niryat Shree and Niryat
Bandhu Awards celebrations of FIEO? / R o & R 3 %1, w2 e (FIEO) & FRorfa oft va fafa ay wars awmiz & werrn
AT | "eg aars” 2w T

A) HDFC / m=rEet

B) SBI / waeTaTE

C) Punjab National Bank / =T q99 &%
D) Canara Bank / F=7T &

73) In the preamble to the Indian Constitution, what is substituted for ' Sovereign Democratic Republic'? / e #ifzrer £t
RO ®, O AT B TS F AT 97 TAH | A AT T 82

A) Sovereign Socialist Democratic Republic / Fs] THTSETET T iT=F o1

B)  Sovereign Socialist Secular Democratic Republic / 5w+ #aTsmaT#l e @7t Arsaifeg worrsr
C) Sovereign Secular Republic / T &7 Toersg

D) Sovereign Socialist Republic / F9 THTSETAT T T

74) Why is "Lohri festival” celebrated? / "=Tg=t TITE™" =1 THTIT FTAT &7

A) It denotes the end of spring season / g F7+ T T BT F 30 &1 AT 77T 8
B) It marks the last of the coldest days of winter / 7z 7 T 7ar 5= &7 T #7 F1 20T F7ATE
C) It denotes the start of the winter / =g =t =¥ 47531 77 Feha FvaT 2

D) It marks the start of the monsoon season / g HTH7IF T HIAH &l 9[FATT T YT F7aT &
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75) Where was the first International Arbitration Centre of India inaugurated? / STTEa & Tgel TEXHUTE ATHCIT Het T
FETEH gl gl g77?

A) Bengaluruiﬁﬁ?gﬁ

B) Pune / i1

C) Mumbai / g&=s

D) New Delhi / 7€ feweft

76) Ben Stokes included in the list of Wisden Top five Cricketers for 2015 belongs to which of the following teams? / 2015
farsre of e wier el Y o=y #F onifirer o w2 B S A 2 gu §?

A) South Africa / gferr ssbieeT

B) England / ETdiE

C) New Zealand / =iias
D) Australia / sitegferar

77) Who of the following is credited with invenﬂon of eight of the fourteen vaccinés used in routine vaccination schedules
today? / TSt 3% Pt ST AT ¥ e ey ST § & A ¥ e w1 e e § R smar 27

A) Christiane Nusslein-Volhard / FrfEeaw qaefim-aegre

B) Bill Nye / fa= arer

C) Maurice Hilleman / witew e

D) Carl Friedrich Gauss / &= shsfa i

78) Which is the longest river that originates in India? / Frer # & ®iw € Uk wae st 76t & Freser 3gw wiea & gar &2
A) Brahmaputra / SgT{=

B) Ganga / T

C) Yamuna / THAT

D) Indus / f¥g

Page270f59




Set id:31489_5 08-12-2016 - Balch 2 — Group5 For: Rajya Sabha Secretarial, Parliament of India

79) Which two books were translated by Abul Fazl into Persian? / & 27 501 F7 AaTs T Fo 57T HIEAT 9707 5 For
qr?

A)  Tazkiratul-Wagjiat and Akbarnama / TRfETA-ATERT TAT AFA7ATHT

B)  Tabagat-i-Akbari and Tuzuk-i-Jehangiri / TaTFA-T-aTa T TAT TH-T-ST2T 141

Panch Tantra (Anwar-i-Sahili) and (Faizi) the story of Nal-Damayanti / = &= (sa7-m-ariza) @ (Hsft) a=-zwrt £
4T

D) Baburnama and Humayunama / @TE=THT T4T ZHEATHT
'80) The title as the “Father of the Indian Renaissance” is conferred to whom among the following? / “STeei=T qa=TT7o0
# famg” ag o= P # % fer e = 82

A) Acharya Vinoba Bhave / s=Te fZam=T wre

B) Jamnalal Bajaj / STHATATA &T57

C) Raja Rammohan Roy / TTsT7TH HIEA7TH

D) Gopal Hari Deshmukh / Trme g orqa

81) What is the rank of India among developing countries, as per Global Retail Development Index (GRDI) 2016 released by

London-based business consultancy A. T. Kearney? / @=a fEqa @ Fwmaeft v.& 3 g sy wime e sz 229
(GRDI) 2016 7 Fraefier or & 91T 1 7 #4717 272

D) 4

82) ldentify the article of Indian Constitution wherein 'procedure for impeachment of president' is discussed. / \T7eT FfaeTT
3% 1 sy £ e S it g T mafi R e o == g

A) 63

B) 62

C) 60

D) 61
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83) Who was the founder of the Central Hindu College in Banaras? / a1eq | #gef f@rg wictst #t eawgam e it €12

A) Annie Besant / THT 3=

B) Sarojini Naidu / ST AT

C) Gopal Hari Deshmukh / TToTer 2% gvrqa

D) Ishwar Chandra Vidyasagar / £a% <% F=mam

84) Rath Yatra in Puri (Odisha) is taken out to honour which Hindu deity? / & (<irf2em) & werarm siw & @ Faem & awam #
IREIEIRSICTR-

A) Lord Brahma / 13T+ &[T

B) Lord Jagannath / STeT+ SHT=TL

C) Lord Shiva / wraTa forar

D) Goddess Parvati / 2=t qrEeT

85) Lord Dalhousie annexed which of the following states when their rulers died without leaving a natural heir to the throne? /
AT Tegret 7 % Tt ¥ F & a2 Fewr w7 T o9 3 amees figree F fre v wmratEs gt g e aeam?

A) Jaintiapur / SFaaT®

B) Satara / #am

C) Bijapur / #=mqx

D) Lucknow / =3

86) Nagarahole National Park is located in which of the following states of India? | FRTCETT T8 ST AL o ey =g o
e &7 '

A) Gujarat / Tsrara

B) Tamil nadu / 7%= 13

C) Maharashtra / 9gTg

D) Karnataka / FATe®

87) Who was the author of Harshacharita? / g9=Ya & =@ Hi 947

A) Patanjali / Te=tier

B) Panini / rfur=

C) Bana Bhalta / 417 s7g
D) Kalidas / =rrerata
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88) Which of the following is the Space Agency of France? / {7 & # %= #} v Wi 7 siafyer i 872

A)  French Space Research Organization (FSRQ) / %= =01 H9+ smiATzs= (FSRO)
B)  National Centre for Space Studies (CNES) / 7i9raa #zv ®{7 =1H w215 (CNES)
C) National Space Research and Administration of France (NSRAF) / T9\# #19 ¥= 1z meiafavzer @i smim (NSRAF)

D)  French Space Program and Research (SPRF) / %= =¥ YRITH TF 7199 (SPRF)

89) Who has been selected for the 23rd Rajiv Gandhi National Sadbhavana Award 2016? / F#r 23 = st wiel oty azra=r
R 2016 7 fore safae R i ge
A) Shubha Mudgal / 97aT g

B) Lata Mangeshkar / =aT HTersHv

C) K. S. Chithra/ K. 8. =T

D) Shreya Ghoshal / £ =TT

90) What is Article 21 of the Indian Constitution? / AT7a 1 SfEer % a=um 21 # 7 22

A)  Protection in respect of conviction for offences / A= TeT & 7o angf@fs T wde § Geaqor
B)  Right to education / foraT =T afeErT
C)

Protection of certain rights regarding freedom of speech, etc. / =1 AT w@re=rar, =z & ar # g afere w7 g

D)  Protection of life and personal liberty / S =7 == T=E=ET & H7err

91) Making of mortar using cement, sand and water is én example of / #THz, 7 27 T T ITART 7 THIAT (WET ) FAAT, TAH
7 e 32T 27

A) Biological change / 3tz wHaes

B) Physical change / «ifa= uPady

C) Chemical change / TTamafaes 7=

D) Weather change / ®9® #1 qfi=da

92) Which house of the Parliament is known as the Permanent house? / 55 T FId 3T Had =TT TaT Fgo 11 87

A) Rajya Sabha [ 7137 74T

B) Lok Sabha / =T 74T

C) Vidhan Parishad / fEram 7ho=
D) Vidhan Sabha / faerm war
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93) Which of the following are the two broadly classified classes of research? / fR% o & #I7 & ATHEE * Tie qC T7 T
Tt g?

A) Hypothetical Research and Objective Research / #1=qfAe sIFweT i aeqa ATHeTT

B) Generalized Research and Strategic Research / STHT-THT @ 3T ATHRE AqaeT™

C) Abstract Research and Conceptive Research / 3T STHHENH #lIT a=ia Aqaem

D) Fundamental Research and Applied Research / §ers{d T T SATERTILH SATHETT

94) With respect to the jagir system, the jagirs assigned in lieu of salary were known as / STAft¥ sraeyT & Heae ¥, Ad7 % Taw §
o o St @ Fgerar ar? '

A) Watan jagirs / @& ST

B) Inam jagirs / TATH ST

C) Mashrut jagirs / Fered ST
D) Tankhwah jagirs / vt ST

95) Which of the following companies has launched the first India- made electric bus? / ﬁ'ﬂTﬁT{n‘H o ST FT‘JE?FT T
e serfeee aw = smw e 82

A) Mahindra & Mahindra / ®igaT Uz Hfgar
B) Eicher Motors / STE &% A

C) Hindustan Motors / &g wred
D) Ashok Leyland Limited / #r¢ii sisie frfies

96) What is the age of retirement of Judges from the Supreme Court of India, as of Aprll 20167 / #19=, 2016 BFJ,'H'R T &
WW?WEﬁﬁﬁﬁ@ﬂﬁﬁﬁﬂwg7

A) 58 years / 58 =T
B) 60 years / 60 &
C) 65 years / 65 a7
D) 62 years / 62 a0

Page310f59




Set id:31489_5 08-12-2016 - Balch 2 - Group5 For: Rajya Sabha Secretariat, Parliament of India

97) Which article of Indian Constitution speaks about 'Equality of opportunity in matters of public.émployment’? { AT
AT AT AT AT A A FA & E § s £ e F v § aamar 22

A) 15

B) 18

C) 16

D) 17

98) In which state of India is the Bhilai steel plant located? / wva & 3w 7131 o firmme 2o w4 g 52

A) Chattisgarh / =Tz

B) Karnataka / F=T=F

C) Bihar / fagr™

D) Rajasthan / 717491

99) Which of the following states of India has the highest number of Tiger Population in India as on July 2016? / SATE 2016
&t frfd T s A & ey wre F At i weAr wEw 3y 20

A) Maharashtra / 7gTe

B) Kerala / 7

C) Telangana / A#7TAT
D) Karnataka / F# Tz

100) Who appoints the judges of the Supreme Court of India? / ST7A T FaTg =rma & =i 7 Fafn Fi7 F7ar 872

A) Vice President / T7-Tgwf
B) Governor / 7101

C) Prime Minister / eraw=t
D) Prasiihi /T
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Section 3 - Part C

No. of Questions: 50

101) Choose the Noun in the given sentence:

He could barely conceal his disappointment.

A) barely
_ B) conceal
C) his
D) disappointment

102) Fill in the blanks with the correct option:

Usualy _ child would fall asleep during _____ second song but that evening it took three.
A) the, the

B) a, an

C) an, the

D) the, an

103) Fill in the blanks with correct option:

The property was divided equally 1 the two sisters.
A) for

B) amohg '

C) with

D) between

Don't be taken in by his polished manners,he is a wolf in sheep's clothing.

A) an enemy

)
B) a gentle person
C) in disguise

)

D) a polite person
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105) Fill in the blanks with the correct option.
I hypocrisy

A) hating
B) hate
C) hates
D) hatered

106) Fill in the blanks with the correct form of verb:

It him to think that was all his work.
A) gratify

B) gratifying

C) gratified

D) is gratified

Benign

A) Kind
B) Sad
C) Cruel

D) Happy

108) ldentify the error in the following sentence. The error, if any, will be in one part of the séntence, the number of that part is

your answer. If there is no error, mark your answer as (D). (A)The apartments are very small, / (B)which is fine / (C) for cne

persons. / (D) No Error.
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109) Chose the word that is spelt correctly and fill the blank:

The of Shimla is cool and pleasant.

A) weather

B) weader

C) wether

D) whether

110) Identify the correct synonym:
Vain

A) Proud

B) Serious

C) Valid

D) Humble

~111) ldentify the error in the following éentence. The error, if any, will be in one part of the sentence, the number of that part
is your answer. If there is no error, mark your answer as (D). (A)There is / (B) an full moon / (C) tonight. / (D) No Error.

A) A

B) D

c)C

D)B

112) Choose the correct meaning of the phrase /idiom underlined in the sentence:
He is head and shoulder above his colleagues.

A) taller
B) stronger
C) better

D) popular
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113) Fill in the blanks with the correct option:

Shreya ghoshal melodiously.

A) been singing
B) singing
C) were singing

D) sings

114) identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part

is your answer. If there is no error, mark your answer as (D). (A)They made a / (B) desperate pleas / (C) for help. / (D) No
Error.

115) Choose the correct option to complete the sentence:

The volunteers rendered all the assistance that they __ could.

A) suitably
B) never
C) possibly

D) ever

116) Choose a suitable option to complete the sentence:

One who is humble and decorous in manner and conduct is

A} irritating
B) flashy
C} modest
D) proud
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117) Change the given sentence into a complex sentence:
He is wealthy, but unhappy.

A) Although he is wealthy, he is unhappy.

B) In spite of having great wealth, he is unhappy.
C) In spite of his wealth, he is unhappy. |
D) He is a wealthy man, yet he is unhappy.

118) Fill in the blanks with the correct option.

Lord Vishnu ___ Jalandharasura for his deeds.
A) punished

B) punishing

C) punisher

D) punish

119) Fill in the blanks with the correct option:
| had

slogans.

feeling | was discovering individuals in yesterdays flock of sheep, their tales of woe all fell into sea of

A) a,the the
B) a,an,the.

C) an,a,the
)

D) the,a,an

120) Fill in the blanks with the correct option:

The mistress of house was in living room.

A) the, the
B) the, a
C)a, an

D) a, the
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e

121) Fill in the blanks with the correct option:

Rachel Carson started ecological revolution unknowingly.

A) an
B) the
C)a

D) No article required.

122) Identify the antonym of the underlined word:

My mother was absent minded, as she was worried about my sister's health.
A) on the spot

B) not present

C) attentive

D) preoccupied

123) Choose the correct meaning of the phrase / idiom underlined in the sentence:

All his kith and kin deserted him in the time of need.

A) blood relations
B) friends
C) colleagues

D) class mates -

124) Choose the Noun in the given sentence:
~ Alighthouse marks the entrance to the harbour.
A) marks
B) to
C)a

D) lighthouse
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125) Identify the antonym of the underlined word:
The train arrived on time.

A) entered

B) departed

C) came

D) approached

126) Fill in the blanks with the correct option:
She was ignorant woman

A) a

B) No article required

C) an
D) the

127) Fill in the blanks with correct option:

Mother Teresa laboured the good of humanity.
A) to

B) for

C) of

D) at

128) Fill in the blanks with the correct form of vefb:

She certain to win an Oscar.

A) have looked
B) looks
C) look

D) will be looking
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129) Fill in the blanks with the correct form of verb:

Let's have a look at the TV guide and what's on.

A) see
B) seeing
C) seen

D) saw

130) Fill in the blanks with the correct form of verb:

Legislation approval by both houses of parliament.

A) was requiring
B) require
C) requires

D) requiring

131) Identify the antonym of the underlined word:

Most decent people abhor corruption in government.

A) encourage
B) detest
C) loathe

D) approve

132) Choose the correct meaning of the phrase/idiom underlined in the sentence:

Ritesh bore away many prizes at the school sports.

A) to win

B) to distribute
C) to carry

D) to give
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133) Chose the word that is spelt correctly and fill the blank:

makes a man perfect.

A) practice
B) practiss
C) practise

D) practics

134) Choose the Noun in the given sentence:

The novelist draws heavily on her personal experiences.

A) heavily
B) her
C) novelist

D) on

135) Choose the Pronoun in the given sentence:

| wonder who that letter was from.

A) wonder
B) was
C) who
D) from

136) Fill in the blanks with the correct form of verb:

The debate _ in front of a live audience.

A) televises
B) televised
C) was televised

D) have been televised
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137) Choose the word that is spelt correctly and fill the blank:

He will _ many examples to prove his point.

A) cite
B) site
C) scite

D) sight

138) Fill in the blanks with correct option:

My brother loses his temper the drop of a hat.
A) al
B for

C) on

D) in

139) Identify the error in the following sentence. The error, if any, will be in one part of the sentence, the number of that part is

your answer. If there is no error, mark your answer as (D). (A)He plans to / (B) defends his /(C)Olympic crown. / (D) No Error.
A C

B) A

C)D

D) B

* 140) Choose the correct option to complete the sentence:

what she said was an lie.

A) by and by
B) in and out
C) out and out

D) out and in
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141) Fill in the blanks with the correct option:

They to run away from the situation.

A) choses
B) chose
C) chosen

D) choose

A) Robin is absent because he is ill.

B) The children are playing in the garden.

C) Tell me where you want to go.

D) The sun is shining, and the birds are singing.
143) Fill in the blanks with correct option:
The cat lay the table. :

A) for

B) at

C) under

D)in

144) Choose the word that is spelt correctly and fill the blank:

The appetizers served at the party were so , that the people forgot about the main course.

A) scrumtious
B) scrumptious
C) scrumpious

D) scrumptus
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145) Identify the antonym of the underlined word:

The overloaded boat will sink unless some boxes are off loaded.

A) sail
B) drown
C) submerge

" D) float

146) Change the given sentence into a'compound sentence:

Besides teaching us the game, he encouraged us.

A) While teaching us the game, he encouraged us.
B) Along with teaching us the game, he encouraged us.
C) Apart from teaching us the game, he encouraged us.

D) He taught us the game and he encouraged us.

147) Choose the correct option to complete the senlence:

Here are of our suggestions.

A) muéh
B) such
C) some

D) any

148) Identify the correct synonym:
Agony

A) Happiness
B) Comfort
C) Pleasure

D) Pain
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149) Identify the correct synonym: Toil

A) Amusement
B) Indolence
C) Drudgery
D) Luxury

150) Change the given sentence into a complex sentence:
He worked hard to complete the task on time.

A) He worked hard so that he could complete the task on time.
B) He completed the task on time by working hard.
C) He worked hard and he completed the task oh_ time.

D) He worked hard, so he completed the task on time.
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Section4 - Part D

151) o A1 AT oz gRw?

A) T7E
B) &Tomre
C) ITETE

D) A=TE

152) AT T FHAE TEET 7 e A -

1?|TH%1'F1TJ ‘a?la'
P —
4WWWW ke 1% dm —

A) 1-a, 2-b, 3-¢, 4-d
B) 1-b, 2-a, 3-d, 4-c
C) 1-¢, 2-a, 3-d, 4-b
D) 1-d, 2-c, 3-a, 4-b

153) “zfFT 7 25t 7 oz Rreamo” awer & Ger @ am-m 9w g 2

154) ‘T €77 AT R, TEAT & 7 ST AR 2 AT A 7 =70 A -

A) mrft i -y 7 wErmr A e 8
B) AT & ST g T I AR 7AATI
C) =27 arr ST

D) TEATHAT aT7-aT™ T8l FAATI

‘e

No. of Questions: 50
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155) "=, 31,3, 77, 8,7 T e =T 82

A) srferreor
B) Treawe
C) gvares

D) aeqer

156) “Ferfd ag FeAdT §, ad ft THeraT uTe TE S g w8 T g0 -

A) T B % are W T8 aherar Tt e

B) &g WgAd g, aa T weherar aTe A8l FHeam

C) =ittt ag fgadt g, 9urlt ag SweraT ITF 7at Fan
D)ﬁ%ﬁ%%mmﬁwt

157) T AT s €1 v it v o e o e T o -

A) TETRET aAT

B) srTeaTiiig IuTEATT g
C) git=mas ua

D) #ferftercor |

158) 19E T A2
A) SETEr

B) ¥

C) eieh

o

D) S

159) Fared § A TETH ZAT & —
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160) “TEAT HFrF T AR AT e, AT\ TR T AT AT R arer ger i

A) THATT=E

B) F¥ez ArfeHt
C) ot T
D) 77 sz

161) "Brfiete am o = it & e o 22

A) e
B) Frfrrd
C) P
D) At

' " ‘. AT TR
Enan :

- T, AT A ey P apn
P it b. Tweft =T F A e e A {

A) 1-c,2-b,3-a,4-d
B) 1-8,2:b,3-c,4-d
C) 1-¢,2-a,3-d,4-b

D) 1-d,2-c,3-b,4-a
163) "arfireor e A Bt g v o 2

A) #
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164) 9@ 9758 T AT E7?

A) T
B) fArfreror
C) Frfram
D) Fferor

165) e ggray w1 s ¢ fwm v i qfd FirT - ey T o T T - S

A) - ET ZIAT
B) =@ gemT
C) #tet &1 arer

D) & S Hem

166) "t =7 fFrei T 27

A) TETaT
B) 7T
C) faw=r

D) =T

167) "HTeTeaT” 7 AT qrex 1 82
CA) fBua

B) ufza

C) e

D) fRerear

168) "TTHT q—arra?rq_a‘cﬁ%j" u‘a’%@rmzﬁﬁﬂﬁﬁ%’? 2

A) FHF
B) Faf
C) #TaETT

D) For
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169) f&=aT Fa=T 1=z T 3Rl =7 =90 7 T4 A1 87

A) AT
B) o
C) =fea=r

D) H==

70} g B s e B 9 BT
A) =g

B) aATHAT

C) eretr=ar
D) opamefi

171) A17 0 o U FAT g AT E A A AT ZA?
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173) Fgra<l &1 3% st=d o4 ¥ A= -

PP — |
Al T L

d, srer ot e 1 R

A) 1-¢,2-a,3-d,4-b
B) 1-b,2-d,3-a,4-c
C) 1-d,2-¢,3-b,4-a
D) 1-a,2-b,3-c,4-d

174) $IE FAHT TTAT 9768 i AT 57

A) gar
B) 7g
C) T
D) g8

175) THT-4Te2 T TATIATHT ém' ferfen

A) T
B) =T
C) srearg

D) TSt

176) et feerradi o fasrer =i & for v oree g -
A) TEorfRReaTT

B) s=aTTH

C) Ta=TAT

D) fefversra
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‘e

177) ‘FA70 & 777 ATEA avaAT arearer % o 3f=a m o 2 -

A) 7T
B) w1
C) T

D) fasf
178) Tt e Wit wi iy e am A | Fie-ar oz fer el e A g ?

A) T - AT
B) €T - TEATH
C) uf — /=T

D) H7T - =T

179) "@WWHT@T"E?H T Eﬁf“:ﬁ'ﬁ FFET :ﬁ;:rg‘iwﬁrmqﬁ-’)
A) LIk
B} ¥
o)
D) s

180) a1 vrfersr Famerr sroaft?’ w57 sETsT § agere O AT A1 R -

A) FT TITET 7 FTeT e s s 2
B) A1 1l i B w8 st s 2
C) i BT s |

D) = TrfEreRT e w2

181) SHTH-9T5% T wATrET orex i

A) FBreamr
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182) A FT W AT ST T LT AT SrHE 7G0T B oref 7 grer 8 -

A) HEE FEAT
B) T T o1& T ZfT 7 1 gRIT
C) =rd =0 T

D) g&l & ar fAewreraT

183) A= T ITFT 7 T, o 41T a0 Br o S g g -

A) wE, gt g gew
B) aga=, ®hiferr, 39w oo
C) =g, T, ofr [ed
D) e, qfee, o1 e

184) Y@ TAAT T 9Te% FId AT 2?2
A) sremrfa
B) fFrema

C) stame

D) fReFer

185) ‘Trrerst =Tadt Fatera STt € AT # S -7 9T g —

186)@%&%@@ - i 5 e~

A) Tt
B) ®av
C) 9Tt
D) sr=eil
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-

187) ar=7 =1 onfeam s & 2 -
A) B
B)
C) 7=

D) 71+ =1 For

188) Tt 7 srf "gfEAT A FtAT" § AT A A A Ay ge?

A) FirgeT
B) 77
Q) THAT

D) ==
189) #9[F o157 AT [ oreat & A sr e
A) T
B) T

C) yorw
D}rfﬁnirrcr

190) Hgra™ g Ar s A € 2
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192) F=I¥ -4Te% FT wATIETHT geg T

A) greft

194) "WrgHT" 158 H | YT 9T AT FL

A) TTE
B) £

C)
D) &t

195) FIET-9Te5 T TATAST=T $Teg e

A) FTE
B) g=sT
C) 7w

D) gever

196) "wf=" &7 e /47 87

A) T
B) &=t
C) it

D) sr=rer

Page550f59




Set id:31489_5 08-12-2016 - Balch 2 — Group5

For: Rajya Sabha Secretarial, Parliament of India

197) =% & f@eTe vres AT wEY STE AT

A) fim-AE
B) sifem-Fg
C) sffEra-st=r

D) ATEI-357T

ﬁ%)ﬂ?ﬁ?ﬁ"%ﬂ?ﬂﬁwwgﬁ ...................
A) AT

B) argr

C) ¥

D) TTET

199) ‘=ter #fEar v A v

A) 1936
B) 1927
C) 1947
D) 1930

200) ye-ers2 7 ATy or=w fFrfEe

A) 7T
B) Tl
C) ¥z

D) A=

o B4 = 2 vreg Frgere amer T A -

.

-
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SJI
W

24.
25.
26.
27.
28.
29.
30.

31.

39.
40,
41.
42
43,
44.
45,

46.

Qucstion .Pa.per“No: .

Answer Key

47,

48.

49.

30.

51.

52. 4

53.

55,
56.
57;
58.
59.
60.
61.
62.
63.
64.
65..
66.
67.
68.

69.
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70. A : 97. C 124. D"
71. D 98. A 125. B
72. B 99. D 126. C
73. B o 100. D ' 127. B
74. B 101. D ' 128. BB
75.:€ 102. A ' 129. A
76. B 103. D 130. C
¥, (¢ 104, A 131. D
78. B . 105. B 132. A
79.:€ 106. C 133. A
80, ¢ 107. A 134. C
81, A 108. € 135. C
82. D 109, A 136. €
83. A COLI0. A 137. A
84, B3 1. D 138. A
85. B3 2. C. 139. D
86. D 113 B : . 140. C
87. C ' ‘ 4. D ‘ 141, B
88 B - ' TERS 142. B
89. A 116. C _ 143. C
90. D 117. A [44. B
91. ¢ o 118, A . 145. D
9. A 119. A 146. D
93. D (20, A : 147. C
94. D 121. A 148. D
95. D 122. C 149, C
96. € 123. A 150. A

Page580f59




—Setidi31489 5 —08-12-2016 - Balch 2 — Group5 For: Rajya Sabha Secretariat, Parliament of India

151. D 168. A 85, D'«
152. B 169. C 186. D
153. A 170. A 187. D
154. B _ 171. A 188, A
155. B - | 172. D 189. B
156.. C - 173. A 190. ¢
157. D 174, C _ 191 B
158, @ 175. D 192, A
159. D 176. D 193. A
160, A | 177. ¢ . 194. A
61. D 178. A 195, .C
162. C _ 179. B 196, ¥
163. D ' 180. A : : 197. A
Lo B 181. C 198. D
165. A 182. B : 199. D
166. A | 183 D 200. c-
167. D 184. B
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